32" Max. Tested Wall Width

Snap Coping Flashing Spring Clip 24GA S.S. ID E
-l / Snap Coping-Max Cleat 5¢ Centered on Cleat
— T (16GA Galv, 12* Wide B 40° o.c) (Max-C Only) q
Qu» 5%? is Your 540?’ /

Installation Guide for |
Snap Coplng-MaX/MaX'C it e B 55 Punte Voo i

2 Per Clip Through Pre-Pun hdHl
and Membras Spring Clip, and Merbra;

COPING TO BE FABRICATED" LARGER THAN WALL SIZE TO
ALLOW FOR ANY WALL WIDTH VARIANCE AND EASIER INSTALLATION.

Roo?
L Vembrane
For Front Face Heights Over 6* Only, Add Two
@ S, Fastners Per Clp Through Pre-Punched
Hole and Membrane

NOTES:
A #1 - Isolate all metal parts from ACQ treated wood or other galvanically
incompatible material with appropriate membrane material.
#2 - Appliance attachments, such as lightning rods, signs, or antennae
that penetrate the water seal, induce a galvanic reaction, or otherwise
% compromise the effectiveness of the roof edge system, shall be

eliminated or isolated to prevent problems per section 8.0 if ANSI/SPRI
ES-1. Appliances should also be isolated from, or not attached to, the roof
edge system. Consult the lightning protection system manufacturer for
% specific attachment instructions.

““““

#10-13x1-1/2" S.S. Panhead G e T N I D T
Woodscrew Through Pre-Punched Hole <. J G : i

A. fg%p gt dpmg Flashing D. #10- 13x1 -1/2" S.S. Panhead Woodscrew

Lengths Every Pre-Punched Hole
B. 16GA Galvanized Segmented Cleat (Included and Required)

12" Width, Spaced 40"0.c. MAX. E. Snap Coping Splice Plate

C. Snap Coping Miter Cap ’
Trisate Metais e, 0 Length (Installed over Cleat)
(Outside Corner ShOWN) 44 ot Lo Ave / Elnord, NY 10523
Ph. 914-347-8157 Fax 914-347-8191
er¥lvglt|J sv;\?g;(t@sgr?m%rgm (C) Copyright Drexel Metals, Inc. 2019



AutoCAD SHX Text
Snap Coping Flashing

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
SIDE

AutoCAD SHX Text
32" Max. Tested Wall Width

AutoCAD SHX Text
Snap Coping-Max Cleat  (16GA Galv. 12" Wide @ 40" o.c.)

AutoCAD SHX Text
Roof Membrane

AutoCAD SHX Text
Front Face Height 12" Max.

AutoCAD SHX Text
Rear Face Height 6" Max.

AutoCAD SHX Text
For Front Face Heights Over 6" Only, Add Two (2) S.S. Fastners Per Clip Through Pre-Punched Hole and Membrane

AutoCAD SHX Text
#10-13x1-1/2" S.S. Panhead Woodscrew 2 Per Clip Through Pre-Punched Hole and Membrane

AutoCAD SHX Text
#10-13x1-1/2" S.S. Panhead Woodscrew 2 Per Clip Through Pre-Punched Hole, Spring Clip, and Membrane

AutoCAD SHX Text
Spring Clip 24GA S.S. 5" Centered on Cleat (Max-C Only)


SNAP COPING-MAX

16GA GALV. CLEAT Co%/ NEEDED AT
G CORNERS
e
OUTSIDE CORNER

STEP 1. Installing Segmented Galvanized Cleat
Prior to installing the Cleat, ensure that all metal components have been

isolated from ACQ treated lumber with appropriate membrane material.
Miter cut Cleats together as needed at corner conditions. Install first
Cleat, working away from corner Cleat, so half of the first Cleat will be
under Miter. Additional Cleats to be installed no greater than 40" on
center. Attach the Cleat using #10-13x1-1/2" S.S. Panhead Woodscrews
provided into each pre-punched hole.

SNAP COPING-MAX
STRAIGHT LENGTH

ROOF SIDE——
TUBE SEALANT

MITER SPLICE

PLATE

STEP 3: Installing Snap Coping-Max Straight Lengths

Make sure the Cleats line up centered with the ends of the coping
flashing. Apply a bead of Tube Sealant over the Splice Plate. Hook the
front face of the coping flashing over the front kick of the Cleats, then
rotate the coping flashing over the top of the parapet and push down
the rear face of the coping flashing over the rear Cleat face to engage
the rear kick. Consider lengths of all straight pieces prior to cutting to
avoid creating relatively short sections adjacent to one another.

STEP 2: Installing Snap Coping-Max Miters
Locate the Miter for the appropriate corner. Make sure the Cleats line up
centered with the ends of the Miter. Apply a bead of Tube Sealant inside
each end of the Miter. Install a Splice Plate into each end of the Miter.
Hook the front face of the Miter over the front kick of the Cleat, then
rotate the Miter over the top of the parapet and push down the rear face
of the Miter over the rear face of the Cleat to engage the rear kick.

END CAP
TUBE SEALANT

END TERM

SPLICE PLATE

TUBE SEALANT

CLEAT ROOF SIDE

TUBE SEALANT

STEP 4: Installing Snap Coping-Max End Caps/Terms
Pop-rivet the End Cap and End Term inserts into place. Apply a bead of
Tube Sealant and install a Splice Plate into the End Term or End Cap.
Install End Caps and End Terms by hooking the front drip over the front
kick out on the Cleat and rotating over the part over the parapet. End
Caps and End Terms must be restrained from moving by securing with
fasteners through the roof side leg.




	Sheets and Views
	Snap Coping Max - Install Guide-Page 1
	Snap Coping Max - Install Guide-Page 2


